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Write only the answers against the appropriate question number, as given in the question paper.

SECTION - A =

1. Punctuate the given passage: 3]
(a) He said why do you come and disturb me what a nuisance you are why cant you play
somewhere else can you see that I want to work go away at once and do not come here

e again.
2. Fill in the blanks with suitable articles: 2]
(a) Yesterday European called at my office.
(b) Mount Everest is highest mountain in - world.
(¢) Heisnot honourable man.
3. Use the appropriate word given in brackets to complete the sentence: 2]
(a) Each one of the men punished. [was/were]

(b) The man and the women absconded. [has/have]
(¢) Bread and butter his only food. [is/are]
(d) The cost of all these articles risen. [has/have]

4. Complete each of the following sentences with a suitable form of the word given in [2]

brackets:
(a) Hehasno (know) of the case.
(b) Whenever he (go) abroad, he brings a present for his parents.
(c) The purpose of the filter is to (pure) the drinking water.
(d) Ifhe hadn’t gone to Nepal he (climb) Mount Everest.
5. Fill in each blank with a suitable word. : 2]
(a) Ifyoulook the telescope distant stars appear very near. g
(b) His application for transfer was turned .
(c) Herequested his friend to hand the cake at the party.
(d) This plan will remain a secret you and me.
6. Fill in the appropriate word in the blank given: [1]
- (a) He brought 10 litres of milk from the 5 [diary/dairy]
(b) The sunis « while the planets revolve around it in [stationery/stationary]

their orbits.

7. Rewrite the given sentences as directed: 3]
(a) The teacher said to the boys, “You should do your work regularly.” [Change to
Reported/Indirect Speech]
(b) People believe that the house is haunted. [Change the voice]
(¢) My father met her son. He is now in America. [Change to Complex Sentence]
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SECTION -B

Read the given passage and answer the questions:

1=

(@)

(b)

(©)

The beaver had made a dam two hundred yards long and it had formed a part of the
quickly flowing stream a wide stretch of water about twenty feet deep. The dam was so
firm and broad that it was easy for me to walk along it. After hundred and fifty yards I
came to a beaver’s castle a great heap of logs skilfully fitted together, the lower part
covered with earth and plants the upper logs were put loosely together so that air could
pass through to the interior.

In the late autumn before land and water is covered with snow and ice, the beaver has to
make its dwelling frost proof. It collects young trees and gnaws the stem in a double cone
until the tree falls. Then the long stems are gnawed into small sections, the thin twigs
bitten off the logs dragged to the dwelling. There the timber is piled on the ‘castle’,
sometimes to ten or a dozen feet. Mud is brought from the bottom of the lake and packed
between the logs with the animal’s clever forepaws. The interior is lined with the finest
wood shavings. In this tall shelter the beaver remains high and dry and protected from
frost throughout the winter. The only access to the dwelling is under the water, and even
the forest wolves are unable to pull the building apart.

The water is the beaver’s element. On land it moves slowly and awkwardly. Thus it is
vital for the beaver to have water in which it can swim and where Nature has not provided
this condition for it, it has created it with its dam.

The beaver’s activities change whole landscapes. With the dam for instance on which I
was standing beavers had turned a whole wooded valley into a lake, trees that had stood
there had been killed by the water and had disappeared. Aquatic game had settled there.
Ducks swam past us and great must have been the number of fishes, as swamps of trouts
had swam past me in the clear stream. Wide stretches of meadows had come into
existence on the banks, with flat landing places to which well-beaten beaver tracks lead.
Many years of building and gnawing and dragging must have gone to the completion of
this immense work, creating a new region for the beavers to live in.

Make sentences for the following words with the same meaning as used in the
passage: >
(i) aquatic (ii) gnaws
Give the meaning of the following words: (A one word answer or a short phrase will
be accepted.) ’

(i) Access (i) Vital

‘What is the dimension of the beaver dam described in the passage?

SECTION - C

Letter Writing:

iy

You have won a prize in the inter school mono-acting competition. Write a letter to your
friend describing your feelings before, during and after the performance.
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Question-1

Write a composition in hindi approximatély 150 Words on any one of
the following topics:-
frrforfera Rl & @ fadh o fovy wr 2wt & wfdra o ferferg <t
940 3egT & HH 7 8 ' [10]
i-geTd BRI el A |
ii-H9g &1 78T |
iii-wet
Question-2
Write a letter in Hindi in approximately 120 words on any one of the
tpoics given below:-
frafafaa ot o @ e o v wR fR=eY & T 930(aR0)Tregl |
sl faferg:-
(5]

(i) 39 oo Rerer & 1 24 @ S a7y R SufRyd & 81w 9| gEer B
e 7 facqe (IR W) IgT B HRUT GAdKd gY e U fRay |
arerar
(i) 3O B 9E B Paa A, gRT R I drel BRIBAT & HI0T F X
e AR IO UeTS W eI Bigd we ol R 37 8¢ ue o ffag |

Question-3
Answer the following according to the instructions given:-
frrferfec weel & SR FTrRR fafern |
(i) A 1 wreg) & -1 vafoareh e fafeg | (2]
i - 3
ii- fopRT



(i) &3 T ey & forudlenefe wreg fafeg |
i - ameafe
il - g=r

(iv) Fre=fafea Jerert & aref ey aey a=ney |
i- FEE-dF BT TR

li-eTs ger

i -forRT =T

(V) areal &1 e e gy |

i-3TE B O TR S IR g g |
(arerg 3 SR 1)

ii- oRepf wfts Rufodl & =2 gavar 2
(Ta g&fer)

ifi~ S ¥R # g1 STaR0T BT el Sl I E ?

( it el & oy v v forga) arer a4 faikeg)

(3]
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6T6060T NN ESHEHEBGID aflenL_wer.
Lefluren elwLenwd CHIHOBBHSH (LSS o ; ©)
1. 6T BT RIG 6T~ TN  JBLGSHSHIS 6.
3l @ff 9. gl 8. @
2.855M0 2_amienald FTULILeNl60N60 6TEBIEY 2 (6D oNBLD.
3. B@MVSH QY. PSS G QMPHE)
3.&MBE&6T SIPUUTED  LDED|P---------- - GMDBHEA L gl
Sl GUETD &Y. eueVD @), UL
O Hlevmigbe Beiml el (BLosnsisenTa omflalll L e
ol eilmey . eflemen & eflemip
5.8audOUTHLSeNTED eflUFT  [HleVBIE6NT-—---mm UL® efll L e
S UTp & umed @), umei

ILergli&Qamsd Hme. %)
1. patemo 2. 2 _wiey 3. eeflgl 4. WOBHSHH 5. Remenio

[MLans&wsbgHed DMSHEH 61(10SIS. (5)
1. Qubens 2. ubsWD 3. el 4. Hbd 5. HIUIHD

IV.Qurmst sms. (5)
1. 255D 2. BOS 3. euelld 4. @EbTevld 5. GlLoul

V.gbasmib @aiiBE 75 eurjiHengdeisy eflenlulef. ©)

1. sremmoBeUTe Wglouamingemnusd &miBLpsHIH HHWOTL HTOIGSHIMD
AUITEN[HBE (PMBUILBSH HYHID EUEN]H.

2. 2 mise Usiielluisd BemLGuBD Afluy e eflprellenars umn o s
Campslt 2i6b6v&HI CHTPNES @h HYBHD CI(INSIE.
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% CLASS : IX (9)
TOTAL MARKS: 25

ENTRANCE TEST 2017-18
SUBJECT: MATEMATICS

SECTION A
Attempt all questions in this Section
Find the square root of 1296 by prime factorization' method. '
Find the value of x in the proportion 2:7 :: x :35
Find the simple interest on Rs.3500 at 4% per annum for 3 years.
Find the product of: a + 2b—3c and 3a—2b + ¢

Find the value of x and y from the following diagram.

i

f 100

SECTION B
Attempt any five questions in this Section

Find the area and perimeter of a square of side 14.5 cm.

. Find the average of the following data:

32, 34, 35, 40, 42, 45, 15, 19, 25, 35
Simplify: 22 —[24 —{14 — (15 — (8 - 3))}]
Find the value of x, if 2***=¢64

DATE: 28/02/2017
WRITING TIME : 1 HOUR
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- A shirt was bought for Rs.120 and sold for Rs.150. Find the profit and profit percent. [3]
. Expand: (2a+ 5b)
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